

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1										
3	4	7	+	1	8	2	=	5	2	9
3	0	0	+	1	0	0	=	4	0	0
	4	0	+		8	0	=	1	2	0
		7	+			2	=			9
A u f g a b e 2										
7	4	1	-	3	2	6	=	4	1	5
7	0	0	-	3	0	0	=	4	0	0
	4	0	-		2	0	=		2	0
		1	-			6	=		-	5
A u f g a b e 3										
5	2	6	+	3	7	1	=	8	9	7
5	0	0	+	3	0	0	=	8	0	0
	2	0	+		7	0	=		9	0
		6	+			1	=			7

A u f g a b e 1										
6	8	4	+	2	1	3	=	8	9	7
6	0	0	+	2	0	0	=	8	0	0
	8	0	+		1	0	=		9	0
		4	+			3	=			7
A u f g a b e 2										
1	9	2	+	4	3	8	=	6	3	0
1	0	0	+	4	0	0	=	5	0	0
	9	0	+		3	0	=	1	2	0
		2	+			8	=		1	0
A u f g a b e 3										
2	8	3	-	1	4	9	=	1	3	4
2	0	0	-	1	0	0	=	1	0	0
	8	0	-		4	0	=		4	0
		3	-			9	=		-	6

A u f g a b e 1										
3	7	2	+	2	4	8	=	6	2	0
3	0	0	+	2	0	0	=	5	0	0
	7	0	+		4	0	=	1	1	0
		2	+			8	=		1	0
A u f g a b e 2										
5	4	3	-	3	2	1	=	2	2	2
5	0	0	-	3	0	0	=	2	0	0
	4	0	-		2	0	=		2	0
		3	-			1	=			2
A u f g a b e 3										
4	3	5	+	2	7	6	=	7	1	1
4	0	0	+	2	0	0	=	6	0	0
	3	0	+		7	0	=	1	0	0
		5	+			6	=		1	1

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1											
8	1	2	+	1	9	4	=	1	0	0	6
8	0	0	+	1	0	0	=	9	0	0	
	1	0	+		9	0	=	1	0	0	
		2	+			4	=			6	
A u f g a b e 2											
3	0	9	+	4	8	7	=	7	9	6	
3	0	0	+	4	0	0	=	7	0	0	
		0	+		8	0	=		8	0	
		9	+			7	=		1	6	
A u f g a b e 3											
8	3	-	5	7	=	2	6				
8	0	-	5	0	=	3	0				
	3	-		7	=	-	4				

A u f g a b e 1											
5	6	3	-	2	4	8	=	3	1	5	
5	0	0	-	2	0	0	=	3	0	0	
	6	0	-		4	0	=		2	0	
		3	-			8	=		-	5	
A u f g a b e 2											
4	1	3	+	2	8	9	=	7	0	2	
4	0	0	+	2	0	0	=	6	0	0	
	1	0	+		8	0	=		9	0	
		3	+			9	=		1	2	
A u f g a b e 3											
1	8	9	+	7	6	2	=	9	5	1	
1	0	0	+	7	0	0	=	8	0	0	
	8	0	+		6	0	=	1	4	0	
		9	+			2	=		1	1	

A u f g a b e 1											
2	3	4	+	5	6	7	=	8	0	1	
2	0	0	+	5	0	0	=	7	0	0	
	3	0	+		6	0	=		9	0	
		4	+			7	=		1	1	
A u f g a b e 2											
7	7	7	-	2	2	2	=	5	5	5	
7	0	0	-	2	0	0	=	5	0	0	
	7	0	-		2	0	=		5	0	
		7	-			2	=			5	
A u f g a b e 3											
4	2	9	+	5	1	3	=	9	4	2	
4	0	0	+	5	0	0	=	9	0	0	
	2	0	+		1	0	=		3	0	
		9	+			3	=		1	2	

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1										
1	2	3	+	9	0	=	2	1	3	
1	0	0	+		0	=	1	0	0	
	2	0	+	9	0	=	1	1	0	
		3	+		0	=			3	
A u f g a b e 2										
8	3	5	+	1	4	2	=	9	7	7
8	0	0	+	1	0	0	=	9	0	0
	3	0	+		4	0	=		7	0
		5	+			2	=			7
A u f g a b e 3										
4	8	9	-	2	6	7	=	2	2	2
4	0	0	-	2	0	0	=	2	0	0
	8	0	-		6	0	=		2	0
		9	-			7	=			2

A u f g a b e 1										
9	9	-	3	2	=	6	7			9
9	0	-	3	0	=	6	0			
	9	-		2	=		7			
A u f g a b e 2										
5	8	4	+	1	2	9	=	7	1	3
5	0	0	+	1	0	0	=	6	0	0
	8	0	+		2	0	=	1	0	0
		4	+			9	=		1	3
A u f g a b e 3										
1	2	3	+	4	5	6	=	5	7	9
1	0	0	+	4	0	0	=	5	0	0
	2	0	+		5	0	=		7	0
		3	+			6	=			9

A u f g a b e 1										
7	2	-	4	8	=	2	4			
7	0	-	4	0	=	3	0			
	2	-		8	=	-	6			
A u f g a b e 2										
8	6	+	5	7	=	1	4	3		
8	0	+	5	0	=	1	3	0		
	6	+		7	=		1	3		
A u f g a b e 3										
6	4	-	2	7	=	3	7			
6	0	-	2	0	=	4	0			
	4	-		7	=	-	3			

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1									
5	3	+	2	9	=	8	2		
5	0	+	2	0	=	7	0		
	3	+		9	=	1	2		
A u f g a b e 2									
9	1	-	4	6	=	4	5		
9	0	-	4	0	=	5	0		
	1	-		6	=	-	5		
A u f g a b e 3									
3	8	+	6	4	=	1	0	2	
3	0	+	6	0	=		9	0	
	8	+		4	=		1	2	

A u f g a b e 1									
8	5	-	3	8	=	4	7		
8	0	-	3	0	=	5	0		
	5	-		8	=	-	3		
A u f g a b e 2									
4	7	+	5	6	=	1	0	3	
4	0	+	5	0	=		9	0	
	7	+		6	=		1	3	
A u f g a b e 3									
6	9	-	3	1	=	3	8		
6	0	-	3	0	=	3	0		
	9	-		1	=		8		

A u f g a b e 1										
7	4	+	1	9	=	9	3			
7	0	+	1	0	=	8	0			
	4	+		9	=	1	3			
A u f g a b e 2										
2	3	4	+	1	5	7	=	3	9	1
2	0	0	+	1	0	0	=	3	0	0
	3	0	+		5	0	=		8	0
		4	+			7	=		1	1
A u f g a b e 3										
4	8	2	-	2	6	3	=	2	1	9
4	0	0	-	2	0	0	=	2	0	0
	8	0	-		6	0	=		2	0
		2	-			3	=		-	1

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1										
3	6	5	+	4	7	2	=	8	3	7
3	0	0	+	4	0	0	=	7	0	0
	6	0	+		7	0	=	1	3	0
		5	+			2	=			7
A u f g a b e 2										
7	4	+	2	8	=	1	0	2		
7	0	+	2	0	=		9	0		
	4	+		8	=		1	2		
A u f g a b e 3										
9	1	-	4	6	=	4	5			
9	0	-	4	0	=	5	0			
	1	-		6	=	-	5			

A u f g a b e 1										
3	8	+	6	7	=	1	0	7		
3	0	+	6	0	=		9	0		
	8	+		7	=		1	7		
A u f g a b e 2										
6	4	1	-	3	1	2	=	3	2	9
6	0	0	-	3	0	0	=	3	0	0
	4	0	-		1	0	=		3	0
		1	-			2	=		-	1
A u f g a b e 3										
1	2	9	+	3	8	4	=	5	1	3
1	0	0	+	3	0	0	=	4	0	0
	2	0	+		8	0	=	1	0	0
		9	+			4	=		1	3

A u f g a b e 1										
5	2	-	3	9	=	1	3			
5	0	-	3	0	=	2	0			
	2	-		9	=	-	7			
A u f g a b e 2										
8	4	+	7	6	=	1	6	0		
8	0	+	7	0	=	1	5	0		
	4	+		6	=		1	0		
A u f g a b e 3										
9	2	-	3	4	=	5	8			
9	0	-	3	0	=	6	0			
	2	-		4	=	-	2			

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1										
6	8	+	2	5	=	9	3			
6	0	+	2	0	=	8	0			
	8	+		5	=	1	3			
A u f g a b e 2										
6	2	1	+	3	5	8	=	9	7	9
6	0	0	+	3	0	0	=	9	0	0
	2	0	+		5	0	=		7	0
		1	+			8	=			9
A u f g a b e 3										
9	7	2	-	5	6	3	=	4	0	9
9	0	0	-	5	0	0	=	4	0	0
	7	0	-		6	0	=		1	0
		2	-			3	=		-	1

A u f g a b e 1										
6	3	1	-	5	1	7	=	1	1	4
6	0	0	-	5	0	0	=	1	0	0
	3	0	-		1	0	=		2	0
		1	-			7	=		-	6
A u f g a b e 2										
3	5	4	+	2	6	7	=	6	2	1
3	0	0	+	2	0	0	=	5	0	0
	5	0	+		6	0	=	1	1	0
		4	+			7	=		1	1
A u f g a b e 3										
9	2	+	3	8	=	1	3	0		
9	0	+	3	0	=	1	2	0		
	2	+		8	=		1	0		

A u f g a b e 1										
7	3	-	2	9	=	4	4			
7	0	-	2	0	=	5	0			
	3	-		9	=	-	6			
A u f g a b e 2										
8	1	+	4	6	=	1	2	7		
8	0	+	4	0	=	1	2	0		
	1	+		6	=			7		
A u f g a b e 3										
6	5	-	3	8	=	2	7			
6	0	-	3	0	=	3	0			
	5	-		8	=	-	3			

Name:

Stellenweise\_Lösungen

06.01.2025

A u f g a b e 1										
4	8	2	+	3	1	7	=	7	9	9
4	0	0	+	3	0	0	=	7	0	0
	8	0	+		1	0	=		9	0
		2	+			7	=			9
A u f g a b e 2										
6	3	1	-	4	1	2	=	2	1	9
6	0	0	-	4	0	0	=	2	0	0
	3	0	-		1	0	=		2	0
		1	-			2	=		-	1
A u f g a b e 3										
7	4	+	2	9	=	1	0	3		
7	0	+	2	0	=		9	0		
	4	+		9	=		1	3		

A u f g a b e 1										
7	9	+	4	8	=	1	3	7		
8	0	+	4	0	=	1	2	0		
	9	+		8	=		1	7		
A u f g a b e 2										
8	4	-	3	7	=	4	6			
8	0	-	3	0	=	5	0			
	4	-		7	=	-	4			
A u f g a b e 3										
4	8	2	-	3	9	=	4	4	3	
4	0	0	-		0	=	4	0	0	
	8	0	-	3	0	=		5	0	
		2	-		9	=		-	7	

A u f g a b e 1										
7	3	+	2	4	8	=	3	2	1	
	0	+	2	0	0	=	2	0	0	
7	0	+		4	0	=	1	1	0	
	3	+			8	=		1	1	
A u f g a b e 2										
5	6	4	-	8	7	=	4	7	7	
5	0	0	-		0	=	5	0	0	
	6	0	-	8	0	=	-	2	0	
		4	-		7	=		-	3	
A u f g a b e 3										
9	7	+	3	8	1	=	4	7	8	
	0	+	3	0	0	=	3	0	0	
9	0	+		8	0	=	1	7	0	
	7	+			1	=			8	